
D122 BCOMD201

B.COM. SECOND YEAR EXAMINATION, 2014

(Correspondence Course)

PAPER -I : JAIN CULTURE AND VALUE OF LIFE (PART-I)

TIME : 3.00 HRS. MM : 70

{ZX}e …{H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

à. 1. ^JdmZ G$f^ H$m¡Z Wo? CZHo$ OrdZ Ho$ ~mao _| {b{IEŸ&

Who was Lord Rishabha? Write about his life.

à. 2. ^JdmZ _hmdra Ho$ OrdZ VWm Xe©Z na àH$me S>m{bEŸ&

Throw light on the Life and Philosophy of Lord Mahavira.

à. 3. O¡Z Y_© _| {d{^Þ gåàXm`m| H$s {ddoMZm H$a|Ÿ&

Explain the various Sects of Jain Religion.

à. 4. O¡Z g§ñH¥${V H$s {deofVmAm| na àH$me S>m{bEŸ&

Describe the characteristics of Jain Culture.

à. 5. O¡Z H$bm H$s _w»` {deofVmE§ Š`m h¡? ñnîQ> H$a|Ÿ&

What are the main features of Jain Art? Explan it.

(i) H¥$.n¥.C./P.T.O.(ii)

à. 6. Ü`mZ Ho$ ñdê$n na àH$me S>m{bEŸ&

Elaborate the nature of Meditation.

à. 7. àojmÜ`mZ Ho$ d¡km{ZH$ Ed§ AmÜ`mpË_H$ AmYma na àH$me S>m{bEŸ&

Explain the scientific and spritual base of Preksha Meditation.

à. 8. àojm Woamnr H$s {ddoMZm H$a|Ÿ&

Describe Preksha Therapy.

à. 9. g_` à~ÝYZ go Š`m VmËn`© h¡? g_` à~ÝYZ Ho$ _hÎd na àH$me S>m{bEŸ&

What do you mean by Time Management? Explain about its

importance.

à. 10. bú` à~ÝYZ na EH$ {Z~ÝY {b{IEŸ&

Write an essay on Goal Management.

ttt



D123 BCOMD202

B.COM. SECOND YEAR EXAMINATION, 2014

(Correspondence Course)

PAPER -II : PRINCIPLES OF BUSINESS MANAGEMENT

TIME : 3.00 HRS. MM : 70

{ZX}e … {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

à. 1. à~ÝY go Š`m Amím` h¡? AmYw{ZH$ AW©ì`dñWm _| à~§Y Ho$ _hÎd H$s

{ddoMZm H$s{OEŸ&
What do you understand by Management? Explain the importance

of Management in modern Economy.

AWdm/OR

""à~§Y ì`pŠV`m| H$m {dH$mg h¡, Z hr dñVwAm| H$m {ZX}eZŸ&'' Bg H$WZ H$s

{ddoMZm H$amoŸ&

"Management is the Development of Men, not the Direction of

things." Clarify the statement.

à. 2. {ZJ_r` {Z`moOZ go Amn Š`m g_PVo h¢? CZ g^r KQ>H$m| H$m {ddoMZ

H$s{OE Omo {ZJ_r` {Z`moOZ H$mo à^m{dV H$aVo h¢Ÿ&

What is Corporate Planning? Explain all the factors which affecting

Corporate Planing.

(i) H¥$.n¥.C./P.T.O.(ii)



AWdm/OR

A{YH$ma àË`m`moOZ go Amn Š`m g_PVo h¢? EH$ à~§YH$s` g§ñWmZ H$mo
A{YH$ma àË`m`moOZ Ho$ {bE H$m¡Z-H$m¡Z go H$X_ CR>mZo n‹S>Vo h¢? ñnîQ>
H$s{OEŸ&
What is Delegation of Authority? Explain the steps of Authority

Delegation which a managerial Institute have to take.

à. 3. ZoV¥Ëd go Š`m Ame` h¡? ZoV¥Ëd Ho$ {d{^Þ ñdê$nm| H$m {ddoMZ H$s{OEŸ&

What is Leadership? Explain the various styles of Leadership.

AWdm/OR

g§àofU go Amn Š`m g_PVo h¢? g§àofU Ho$ _mJ© _| AmZo dbr ~mYmAm| d CÝh|
Xya H$aZo Ho$ gwPmd Xr{OEŸ&
What do you mean by Communication? Explain the barriers and

suggestion to overcome the barriers in the way of Communication.

à. 4. n[adV©Z dmVmdaU _| à~§Y Ho$ C^aVo Am`m_m| H$mo ñnîQ> H$s{OEŸ&
Discuss about emerging horizon of Management in changing

environment.

AWdm/OR

n[adV©Z H$m à~§Y Š`m h¡? EH$ g§JR>Z Ho$ {bE n[adV©Zm| H$m à~§Y H$aZo H$s
Š`m Amdí`H$Vm h¡?
What is Management of Change? Describe the necessaries of

Management of Change for an organisation.

à. 5. {Q>ßnUr {b{I`o - / Comment on  :

(A) gr{_V {ddoH$erbVm / Bounded Rationality

(~) g{_{V g§JR>Z / Committee Organisation

(g) A§JyarbVm g§àofU / Grapevine Communication

ttt
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D124 BCOMD203

B.COM. SECOND YEAR EXAMINATION, 2014
(Correspondence Course)

PAPER -III : CORPORATE ACCOUNTING

TIME : 3.00 HRS. MM : 70

{ZX}e …{H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt any five questions. Each question carries equal marks.

à. 1. Xr EŠg H$ånZr {b{_Q>oS> H$m {ZåZ{b{IV Xm{`Îdm| Ho$ gmW g_mnZ hþAm …

(A) gwa{jV boZXma 20,000é. (à{V_y{V©`m| go dgwbr 25,000)

(~) nydm©{YH$ma boZXma 6,000é.

(g) Agwa{jV boZXma 30,500é.

{ZñVmaH$ Ho$ nmg go 252é. ì`` hþEŸ&

{ZñVmaH$ H$mo dgwb hþB© am{e na 3% VWm Agw[a{jV boZXmar (nydm©{YH$ma
boZXmam| H$mo N>mo‹S>Vo hþ̀ o) H$mo {dV[aV am{e na  1½% nm[al{_H$ nmZo H$m A{YH$ma
h¡Ÿ& {d{^Þ gån{V`m| go (gwa{jV boZXmam| Ho$ nmg à{V^y{V`m| Ho$ A{V[aŠV)
26,000é. dgwb {H$`oŸ& AmnH$mo Agwa{jV boZXmar H$mo {ZnQ>mao _o§ Xr hþB© am{e
H$mo ì`ŠV H$aVo hþE {ZñVmaH$ H$m {hgm~ H$m {ddaU V¡`ma H$aVm h¡Ÿ& {ZñVmaH$
gwa{jV boZXmam| Ho$ nmg aIr à{V^y{V©̀ m| H$s dgybr na ^r nmal{_H$ nmZo H$m
A{YH$mar h¡Ÿ&

The X co Ltd. went into liquidation with the following liabilities.

(a) Secured creditors Rs. 20,000 (Securities realised Rs. 25,000)

(b) Preferential creditors Rs. 6,000 and

(c) Unsecured creditors Rs. 30,500

(i) H¥$.n¥.C./P.T.O.

à. 4. AmÝV[aH$ nwZ{Z©_m©U go Amn Š`m g_PVo h¢? ny§Or H$Q>m¡Vr Ûmam AmÝV[aH$
nyZ{Z©_m©U H$s {d{Y Ho$ boIm§H$Z H$s OZ©b à{dpîQ>̀ m| H$mo EH$ H$mën[ZH$ CXmhaU
H$s ghm`Vm go Xr{OEŸ&
What do you mean by Internal reconstruction. Give Journal Entries for

accounting of Internal reconstruction in the from of capital reduction,

taking an Imaginary example.

à. 5. »`m{V Ho$ _yë`m§H$Z H$s {d{^Þ {d{Y`m| H$mo g_PmBEŸ&
Expalin the various method of Valuation of Goodwill.

à. 6. A§em| Ho$ haU go Š`m Ame` h¡? A§em| H$mo haU VWm nwZ{Z©J©_Z Ho$ g_` _|
boIm§H$Z g§~§Yr ì`dhma ~VmBEŸ&

What do you mean by forfeiture of shares. Explain the Acounting

treatment related to forfeiture of Rerssueif shares.

à. 7. A§Va ~VmB`o/Differentiate between

(i) bm^m| Ho$ ny§OrH$aU go Š`m VmËn`© h¡Ÿ& g_PmBEŸ&

What is meant by "Capitalisation of Profits"? Explain

(ii) {d^mOZ `mo½` bm^ d ewÕ bm^

Divisible profit and Net profit

à. 8. {db`Z Ho$ ñd^md dmbo EH$sH$aU Ho$ {b`o {H$Z ímVm] H$s ny{V© hmoZm Amdí`H$ h¡Ÿ&

What conditions are to be complied with for amalgamation in the

nature of a merger.

à. 9. G$U nÌ H$m AW© Ed§ {d{^Þ àH$mam| go g_PmB`oŸ&

Explain the meaning of debentures and its various types.

ttt

(iv)



From liquidator 250/- Expenses

The liquidator is entitled to remuneration of 3% on the amount

realized and 1.5% on the amount distributed to unsecured creditors

(excluding preferentiel creditors) The various assets (excluding

securities in the hands of fully secured creditors) realized Rs. 26,000.

You are required to prepare the liquidator's Account showing the

composition given to the unsecured creditors. The liquidator is

entitled to his remuneration on the realization of securities in the

hands of secured creditors.

à. 2. H$maU g{hV ~VmBE {H$ {ZåZ{b{IV {ddaU ghr h¡ `m ZhtŸ&

Explain with reason that following statement is right or wrong.

(i) {d{dY gån{Îm`m§  é. 9,27,342

Sundry assets é.  Rs. 9,27,342

(ii) Mmby Xm{`Ëd é. 52,492

Current liabilities Rs. 52,492

(iii) {nN>bo df© H$m Am¡gV ewÕ bm^ é. 1,20,000

Average net profit of the last year Rs. 1,20,500

(iv) {Z`mo{OV Am¡gV ny§Or é. 9,00,000

Average capital employed Rs. 9,00,000

(v) gmPoXmam| H$m Am¡gV dm{f©H$$nm[al{_H$ é. 18,000

Partners average annual remuneration Rs. 18,000

(vi) »`m{V Mma dfm] Ho$ H«$` Ho$ A{Ybm^ na _yë`m§{H$V h¡ Rs. 50,000 .

The goodwill valued at four years purchase for super profit

Rs. 50,000

The expected rate of return Rs. 15%

à. 3. 31 _mM© 2014 H$mo EM. {b{_Q>oS> Am¡a Eg. {b{_Q>oS> H$m {MÆ>m {ZåZ àH$ma h¡Ÿ&
Tha Balance sheet of H Ltd. and S Ltd. as at 31-3-2014 is as follows.

H Ltd. S Ltd. H Ltd. S Ltd.

 (Rs.)  (Rs.)  (Rs.)  (Rs.)

Equity Shares Goodwill 60000 40000

of Rs. 10 each 1000000 400000 Land & Building 200000 120000

General Resource 60000 24000 Plant & machinary 500000 300000

P & L A/c 90000 60000 Stock 85000 40000

Creditors 95000 80000 Debtors 130000 60000

B/P 50000 56000 Cash 10000 10000

B/R - 20000

30000 shares in

S Ltd 310000 -

Advertisement Exp. - 30000

1295000 620000 1295000 620000

(i) EM {b{_Q>oS> Zo Eg {b{_Q>oS> Ho$ A§e AJñV 1, 2013 H$mo H«$` {H$`o WoŸ&

H Ltd. acquires shares in S Ltd. on Aug. 1, 2013.

(ii) Eg {b{_Q>oS> _| 1 Aà¡b 2013 H$mo Ho«${S>Q> eof {ZåZ àH$ma WoŸ&

bm^-hm{Z ImVm 7000 H$s VWm gm_mÝ` g§M` ImVm 20000é.

The credit balance of S Ltd. on April 1, 2013 were as follows :

P & L A/c Rs. 7000, General Reserve Account Rs. 20000

(iii) EM {b{_Q>oS> Zo Eg {b{_Q>oS> Ho$ ßbmÊQ> d _erZar H$mo 330000é. na
VWm CgHo$ ñQ>m°H$ H$mo 30000é. na nyZ©_yë`m§{H$V {H$`m {OZ A§H$mo na
BZ gån{Îm`m| H$mo EH$sH¥$V {MÆ>m _| em{_b H$aZm h¡Ÿ&

EH$sH¥$V {MÌU V¡̀ ma H$aZm h¡Ÿ&

H Ltd. revalued plant & machinery of S Ltd. at Rs 330000 and

stock at Rs. 30,000 at which figures these assets are to be

Incorporated in the consolidated Balance Sheet.

Prepare the consolidated Balance Sheet

(iii) H¥$.n¥.C./P.T.O.(ii)



D125 BCOMD204

B.COM. SECOND YEAR EXAMINATION, 2014

(Correspondence Course)

PAPER -IV : COMPANY LAW AND AUDITING

TIME : 3.00 HRS. MM : 70

{ZX}e …g^r àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&
Note : Attempt all questions. Each question carries equal marks.

à. 1. [ZOr H§$nZr H$s n[a^mfm Xr{OE? {ZOr H§$nZr d gmd©O{ZH$ H§$nZr _| A§Va

~VmB`o?
Difine Private Company? Distinguish between private and public

company?

AWdm/OR

à{ddaU Š`m h¡? à{ddaU _| g_d{YV {df` dñVw H$mo n[a^m{fV H$s{OEŸ&
Difine Prospectus? Explain the contents of Prospectus.

à. 2. EH$ H$ånZr _| g§MmbH$m| H$s pñW{V H$m dU©Z H$a|Ÿ&
Describe the position of Directors in a company.

AWdm/OR

nwZ… H«$` na bKw {Z~§Y {bI|?
Write a shortnote on buy back of shares?

à. 3. A§Ho$jU Š`m h¡? BgHo$ CÔoí`m| d _hÎd H$m dU©Z H$a|Ÿ&
What do you mean by Audit? Discribed it's objectives & importance.

(i) H¥$.n¥.C./P.T.O.(ii)

AWdm/OR

AZwg§YmZ d A§Ho$jU _| A§Va ~VmB`o?
Describe difference between Audit & Investigation?

à. 4. H§$nZr A§Ho$jH$ Ho$ A{YH$ma d H$Îm©ì`m| H$m dU©Z H$a|Ÿ&
Explain rights & duties of a Company Auditor?

AWdm/OR

EH$ emIm dmbr H§$nZr Ho$ {bE H$mën[ZH$ ñdÀN> {anm}Q> Xr{OE?
Give an imaginary clean report for a company having a branch?

à. 5. H§$nZr A§Ho$jH$ H$s {Z`wpŠV Ho$ àmdYmZm| H$m dU©Z H$a|Ÿ&
Explain provisons of appointment of a Company Auditor.

AWdm/OR

{Q>ßnUr {bI|/Write short note on

(i) g^m/Meetings

(ii) H§$nZr H$m g_mnZ/Windingup of company.

ttt
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B.COM. SECOND YEAR EXAMINATION, 2014

(Correspondence Course)

PAPER -V : INCOME TAX LAW AND PRACTICES

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.

{ZX}e … H$moB© nm§M àíZ hb H$s{OEŸ& g^r àíZm| Ho$ g_mZ A§H$ h¡Ÿ&

à. 1. [ZåZm§{H$V _| H$a {ZYm©aU df© 2013-14 Ho$ {bE dm{f©H$ _yë` H$s JUZm H$s{OEŸ&/
Compute the annual value in the follwing cases for the assessment year
2013-14.

(A) lr H$_b H$m {Xëbr _| EH$ _H$mZ h¡ {OgH$m ZJanm{bH$m _yë` 24, 000é.
VWm C{MV {H$am`m 22,000é. h¡Ÿ& JV df© H$s nyar Ad{Y _| Cg _H$mZ H$m
Cn`moJ lr H$_b Ûmam AnZo ñd`§ Ho$ Amdmg Ho$ {bE {H$`m J`m WmŸ&
Shri Kamal owns a house in Delhi, whose muncipal value is Rs.
24,000 and the fair rent is Rs. 22,000. The house was used by shri
Kamal for his own residence during the entire period of the

previous year.

(~) lr Mm¡Yar Xmo _H$mZm| Ho$ ñdm_r h¡Ÿ& EH$ {OgH$m ZJanm{bH$m _yë`m§H$Z 8,000é.
h¡, ñd`§ Ho$ {Zdmg Ho$ {bE Cn`moJ _| AmVm h¡ {H$ Am¡a Xygam {OgH$m {Z_m©U
H$m`© 31 {Xgå~a, 1994 H$mo nyam hþAm Wm Ed§ {OgH$m ZJanm{bH$m _yë`m§H$Z
12,000é. h¡, ahZo Ho$ CÔoí` go 1,2000é. à{V_mh {H$am`m na CR>m
hþAm h¡Ÿ& JV df© _| àW_ _H$mZ Ho$ ZJanm{bH$m H$a 800é. VWm {ÛVr`
_H$mZ Ho$ 1,500é. MwH$m`o J`oŸ& {ÛVr` _H$mZ JV df© _| Mma _mh Imbr ahm
Wm VWm àW_ _H$mZ H$mo JV df© _| VrZ _mh Ho$ {bE 700é. à{V_mh H$s Xa go
{H$am`o na CR>m`m {X`m J`m WmŸ&
Mr. Chaudhary owns two houses. One whose muncipal valuation is

Rs. 8,000 is occupied him for his residential purposes and the other.
The construction there of was completed on 31st December, 1994
and whose muncipal valutation is Rs. 12,000 is let out for residential
purpose at a rent of Rs. 1,200 per month. Muncipal taxes Rs. 800 for

(i) H¥$.n¥.C./P.T.O.(iv)

à. 8. ^maVr` Am`H$a A{Y{Z`_ Ho$ AZwgma "H$a-{ZYm©aU H$s H$m`©{d{Y' H$mo ñnîQ> H$s{OEŸ&
Explain 'Procedure for Assessment' under the Indian Income Tax Act.

à. 9. (A) lr A{dZme JJ© amOñWmZ àemg{ZH$ godm _| EH$ A{YH$mar h¡Ÿ& do 1 OyZ,
2011 go 20000-800-28000é. Ho$ doVZ _mZ _| h¢Ÿ& JV df© 2012-
13 Ho$ {bE CZHo$ _yb doVZ H$s JUZm H$s{OEŸ&
Shri Avinash Garg is an officer or Rajasthan Administrative Services

in the pay scale of Rs. 20000-800-28000 Since 1 June, 2011/
Calculate total basic salary for the previous year 2012-13.

(~) _yb doVZ 8,000é. à{V_mh, _h§JmB© ^Îmm 1,000é. à{V_mh (godm eVm]
Ho$ AZwgma) _H$mZ {H$am`m ^Îmm 1200é. à{V_mhŸ& H$aXmVm 1200é.
à{V_mh {H$am`m MwH$mVm h¡Ÿ& Xohbr Ho$ lr C_oe H$s _H$mZ {H$am`m ^Îmm H$s
H$a-`mo½` am{e kmV H$s{OEŸ&
Basic pay @ Rs. 8,000 per month, dearness allowance @ Rs. 1,000

per month (under the term of employment), house rent
allowance @ Rs. 1,200 per month. The assessee pays a rent of Rs.
1,200 per month. Calculate the taxable amount of Shri Umesh of

Delhi.

à. 10. õmg Š`m h¡? õmg H$s H$Q>m¡Vr Ho$ gå~ÝY _| Am`H$a A{Y{Z`_, 1961 H$s ì`dñWmAm|
H$mo g_PmAmoŸ&
What is Depreciation? Explain the provisions of Indian Income Tax Act,

1961 regarding depreciation allowance.

ttt



first house and Rs. 1,500 for second house were paid during the
previous year. The second house remained vacant for a period of
four months during the previous year and the first house was let

out for a period of three months for a rent of Rs. 700 per month.

à. 2. Am`H$a Ho$ {bE H$aXmVm H$m {Zdmg-ñVa Amn {H$g àH$ma {ZYm©[aV H$a|Jo? CXmhaU
XoVo hþE ñnîQ> H$s{OEŸ&/How will you determine the residential status of an

assessee for income tax purpose? Explain with examples.

à. 3. S>m°. a_oe Zo 31 _mM© 2013 H$mo g_má hmoZo dmbo dîm© Ho$ {bE AnZm Am`-ì`` ImVm
{ZåZ àH$ma go ~Zm`m h ¡…/Dr. Ramesh has prepared his Income and

Expenditure account for the year ending on 31st March 2013 as under.

Rs. Rs.
Salary of Employees 78000 Consultaion fee 3,57,000
Dispensary Expenses 34000 Visiting fee 79,000
Household Expenses 96000 Teseling fee 27,000
Laboratory Expenses 39000 Salary received
Donations 24,000 as part time lecture 48,000
Depreciation 20,000 Gift from Patients 12,000
L.I.C premium 17,000 Interest on Securities 8,000
Surplus 2,23,000

5,31,000 5,31,000

ñdrH¥$V õmg H$s am{e 14,000é. h¡Ÿ& H$a-{ZYm©aU df© 2013-14 Ho$ {bE ì`mnma
d noeo go H$a `mo½` Am` H$s am{e kmV H$s{OEŸ&/Depreciation allowable is Rs.

14,000. Find out taxable Income from Business and Profession for the
assessment year 2013-14.

à. 4. ny§Or bm^ H$mo n[a^m{fV H$s{OEŸ& AënH$mbrZ d XrK©H$mbrZ ny§Or bm^m| _| ^oX
H$s{OEŸ& H$m¡Z-H$m¡Z go ny§Or bm^ H$a _wŠV h¢Ÿ&/Define capital gain. Differenciate

between short-term and long-term gains. Which capital gains are
exempted from tax?

à. 5. H$aXmVm H$s Hw$b Am` H$s JUZm H$aVo g_` {d{^Þ àH$ma Ho$ ^wJVmZm| Ho$ gå~ÝY _| Xr
OmZo dmbr H$Q>m¡{V`m| H$mo g§jon _| g_PmBEŸ&/Explain in brief the deduction to

an assessee in respect of various various payments while computing his
total income.

à. 6. {ZåZ{b{IV {ddaU go H$a-{ZYm©aU df© 2013-14 Ho$ {bE {hÝXy A{d^m{OV
n[adma H$s Hw$b Am` Ed§ Xò H$a H$s JUZm H$s{OE -/Compute the total income

and tax payable by a Hindu Undivided Family for the Assessment year
2013-14 from the following particulars.

Rs.

(i)   ì`mnma H$s Am`
Income from business 4,56,000

(ii)  _H$mZ gån{Îm H$s Am`w (AmH${bV)
Income from HP (Computed) 44,000

(iii)  ~¢H$ _| O_m am{e na ã`mO
Interest on Bank deposit 38,000

(iv)  CgHo$ Ûmam MwH$m`m J`m OrdZ ~r_m àr{_`_
Life insurance Premium paid by him 20,000

(v)  gH$b H¥${f Am`
Gross Agricultural Income 30,000

(vi)  H¥${f {H«$`mAm| na {H$`m J`m ì``
Expenditure incurred on agricultural operations 16,000

(vii) H¥${f-Am` na amÁ` gaH$ma Ûmam bJm`m J`m H$a
Tax levied by State Government on agricultural income. 2,000

. `h _m{Z`o {H$ n[adma Ho$ Xmo gXñ`m| H$s {ZOr Am` 1,50,000é. go A{YH$ Ed§
H$a-`mo½` h¡Ÿ&/Assume that two members of the family have their individual

taxable income exeeding Rs. 1,50,000.

à. 7. H$a {ZYm©aU df© 2014-15 Ho$ {bE lr A§{H$V Ûmam Xò  A{J«_ H$a H$s JUZm H$s{OE,
`{X CZ na nhbo H$^r H$a H$m {ZYm©aU Zht hþAm hmoŸ& {dÎmr` df© 2013-14 Ho$ {bE
CZH$m AZw_m{ZV H$a-`mo½` Am` {ZåZ àH$ma h¡-/Compute the advance tax

payable by shri Ankit for the Assessment year 2014-15 if he has not been
assessed to tax previously. His estimated taxable income for the financial
year 2013-14 is as under.

én`o
(i)   gaH$mar à{V^y{V`m| na ã`mO/Interest on Government Securities 6,000

(ii)  ì`mnma go bm^/Profit of business 71,000

(iii)  AënH$mbrZ ny§Or bm^/Short-term Capital Gain 18,000

(ii)  bm°Q>ar go Am`/Income from Lottery 4,000

(ii)  doVZ 30,000é.à{V _mh/Salaries Rs. 30,000 per month 3,60,000

(iii) H¥$.n¥.C./P.T.O.(ii)
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B.COM. SECOND YEAR EXAMINATION, 2014

(Correspondence Course)

PAPER -VI : BUSINESS ENVIRONMENT

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.

{ZX}e …{H$Ýht nm±M àíZm| Ho$ CÎma Xr{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

à. 1. ì`mgm{`H$ dmVmdaU H$mo à^m{dV H$aZo dmbo {d{^Þ KQ>H$m| H$m dU©Z H$s{O`oŸ&
Describe the various factors affecting business environment.

à. 2. ^maV _| ~oamOJmar Ho$ H$maUm| H$s ì`m»`m H$s{O òŸ& Bgo Xya H$aZo Ho$ Cnm̀  ~VmB òŸ&
Explain the causes & solutions of poverty in India.

à. 3. _wÐmñ\$s{V Š`m h¡? BgHo$ H$maU d amoH$Zo Ho$ Cnm` ~VmB`oŸ&
What is inflation? Mention the causes & solutions of inflation.

à. 4. ^maV _| Am¡Úmo{JH$ ê$½UVm Ho$ H$maU d amoH$Zo Ho$ Cnm` ~VmB`oŸ&
Explain the causes & solutions of industrial sickness in India.

à. 5. "^maV _| Jar~r' na EH$ {Z~ÝY {bImoŸ&
Write an essay on 'Poverty in India."

à. 6. ^maV H$s dV©_mZ Am`mV-{Z`m©V Zr{V H$m dU©Z H$s{O`oŸ&
Describe the import-export policy of India.

(i) H¥$.n¥.C./P.T.O.(ii)

à. 7. {díd ~¢H$ H$s Cnb{ãY`m| H$m AmbmoMZmË_H$ narjU H$s{O`oŸ&
Examine Critically the achievements of the World Bank.

à. 8. ì`dgm` Ho$ gm_m{OH$ Xm{`Ëdm| H$m dU©Z H$s{O`oŸ&
Describe the social liabilities of business.

à. 9. ~mahdt n§Mdfr©̀  `moOZm H$s _w»` {deofVmAm| H$m dU©Z H$s{O`oŸ&
Describe the main features of 12th five-year plan.

à. 10. ^maV H$s amOH$mofr` Zr{V H$m dU©Z H$s{O`oŸ&
Describe the fiscal policy of India.

ttt
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B.COM. SECOND YEAR EXAMINATION, 2014

(Correspondence Course)

PAPER -VII : PROJECT MANAGEMENT

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.

{ZX}e … {H$Ýht nm§M àíZm| Ho$ CÎma Xr{OEŸ& àË òH$ àíZ Ho$ A§H$ g_mZ h¢Ÿ&

à. 1. n[a`moOZm à~§Y H$mo n[a^m{fV H$s{OE VWm VH$ZrH$s {díbofU Ed§ BgHo$

n[a`moOZm à~§Y _| _hÎd H$mo g_PmB`oŸ&

Define Project Management and Explain the Technical Analysis &

It's Impotance In Project Management.

à. 2. gm_m{OH$ bmJV bm^ {díbofÊm, BgHo$ CÔoí` VWm à{H«$`mAm| H$mo {dñVma go

g_PmB`oŸ&/Explain Social Cost Benefit Analysis, it's objectives and

process in detail.

à. 3. n[a`moOZm g§JR>Z VWm BgHo$ CÔoí`m| H$mo ~VmB`o Am¡a n[a`moOZm g§JR>Z Ho$

àH$mam| H$mo ~VmB`oŸ&

Define Project organisation, it's objectives and types of Project

organistation.

à. 4. n[a`moOZm OrdZ MH«$ H$s {d{^Þ AdñWmAm| H$m dU©Z H$s{OEŸ&

Explain the different stages of PLC (Project Life Cycle).

(i) H¥$.n¥.C./P.T.O.



(ii) (iii)

à. 5. EH$ n[a`moOZm à~§YH$ Ho$ JwUmo§ H$mo ~VmB`o Am¡a {H$Z _mXÊS>m| na dh EH$

n[a`moOZm H$m M`Z H$aVm h¡Ÿ VWm n[a`moOZm à~§YH$ H$s ^y{_H$m VWm

Xm{`Ëdm| H$mo ~VmB`oŸ&

Define the qualities of an Project Manager and on which criteria

he select the project and Explain the role and responsibility of

Project Manager.

à. 6. BZ gyMZAm| Ho$ AmYma na AXm`Jr Ad{Y kmV H$s{OE VWm Bg {d{Y Ho$

bm^ Ed§ gr_mAm| H$mo ~VmB`oŸ& EH$ H$ånZr 1,00,000é. ny§Or dmbr EH$

n[a`moOZm _| {d{Z`moJ H$aZo na {dMma H$a ahr h¡Ÿ& õmg Ho$ níMmV² qH$Vw H$a

go nyd© H$s dm{f©H$ Am` H$m nydm©Zw_mZ h¡-

õmg _yb bmJV na 20 à{VeV H$s Xa go VWm Am`H$a ewÕ Am` 50

à{VeV H$s Xa go {H$`m Om gH$Vm h¡Ÿ&

AXm`Jr Ad{Y {d{Y H$m Cn`moJ H$aVo hþE n[a`moOZm H$m _yë`m§H$Z

H$s{OEŸ&

Calculate the Pay Back Period from following Data and Mention

the Advantage and Limitation of this method.

A company is planning to invest in a Project costing Rs.

1,00,000. Forecast of Annual Income before tax and after

Depreciation.

  Year      1     2     3     4     5

  Rs. 50000 50000 40000 40000 20000

Evaluate the project on Pay Back Mehtod.

Depriciation on original cost for the rate of 20% and Income tax

on Net Income for the rate of 50%.

à. 7. N>m`m _yë` H$mo n[a^m{fV H$s{OE VWm N>m`m _yë` H$s Amdí`H$Vm Š`mo§ h¡

VWm N>m`m _yë`m| Ho$ _mn H$aZo H$s {d{Y`m| H$mo {dñVma go g_PmB`oŸ&

Define Shadow Pricing & it's need and Explain the two methods

of Shadow Pricing Measurement.

à. 8. ewÕ dV©_mZ _yë` {d{Y VWm Am§V[aH$ àË`m` Xa {d{Y H$mo n[a^m{fV H$s{OEŸ&

BgH$m gyÌ VWm bm^ Ed§ Xmofm| Ho$ ~VmB`oŸ&/Define NPV & IRR Method,

it's formula, advantage and disadvantage.

à. 9. EH$ n[a`moOZm Š`m| Ag\$b hmoVr h¡Ÿ& H$maUm| H$mo ~VmB`o VWm n[a`moOZm

g^md`Vm {díbofU H$mo {dñVma go ~VmB òŸ&/Why a Project is failed. Mention

the reason and Explain the Project Feasibility Analysis in detail.

à. 10. EH$ H$ånZr à~§YH$ VrZ n[a`moOZmAm| na {dMma H$a ahr h¡ Omo Amng _|

g§~§{YV Zhr§ h¡, BZ_| go H$moB© ^r ñdV§ÌVmnyd©H$ MwZr Om gH$Vr h¡Ÿ& H$ånZr

Ho$ nmg n`m©á H$mof h¢ {H$ÝVw EH$ go A{YH$ n[a`moOZm Zht bo gH$Vr h¡Ÿ&

n[a`moOZm H$m amoH$‹S> àdmh {X`o J`o h¢-

H$m¡Zgr n[a`moOZm br Om`oŸ& gbmh H$m H$maU ^r Xr{OEŸ&

A Company Manager is Planning on Three Projects. They are not

Interrlated and any of the project con be selected. Company has

enough fund. Cost of capital is 10%. Cash Inflow are given below.

Which project is selected and why.

Use Present Value Index Method.

Project    Investment   Year Year  Year Year Year

   No. Required Now      1    2    3    4    5

    I      10,000 12,000 3,000     _     _     _

   II      14,000     _     _ 10,000 5,000 7,000

   III      9,000     _ 4,000  5,000 5,000 2,000

ttt


